3.R1 Quadratics Review Questions (Spring 2017)-s17-2 March 31, 2017

Are there any Homework Questions you would like to see on the board?

Last day's work: pp. 198-199 #1c, 2ac, 3, 4_ab, 5-8 [11]

Day 1 Review Homework includes: G ¢ ?

pp. 202-203 #1 - 12, {3- 17, 19 - 23
ol
Sy e 1,17 A9R3
HIGHLY RECOMMENDED

Worksheet on Class Website:
"Word Problems Involving Quadratics" #1 — 10

Day 2 Review Homework includes:

p. 204 #1 -9
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pp. 202 #5 6. Describe the relationship between

5. The height, /(z), in metres, of the trajectory of a fx) = x% g(x) = Vx, and h(x) = — V.
football is given by h(z) = 2 + 287 — 4.9¢°, where
7 is the time in flight, in seconds. Determine the

maximum height of the football and the time when ( 1
that height is 1e1c¥ﬁd‘\7~ . Ver 'LQ)( 5(
ML= - 446 TanE+d
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op. 202 #11
11. What is the perimeter of a right triangle with legs

March 31, 2017
(1)

G cm and 3 cm? Leave your answer in simplest )( Ka:' 3& ‘f é ;
radical form. 3““‘

P=6434«
23S ey

pp. 203 #13

13. The population of a Canadian city is modelled by
P(z) = 12 + 800z + 40 000, where ¢ is the time
in years. When r = 0, the year is 2007.
a) According to the model, what will the
population be in 20202
b) In what year is the population predicted to be
300 0002

q_) In 2030 'é-: aoa_o_a_oojl_
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0= 1at *30st -2¢0 000
o= (L 6:&00 C =-30 000

t=- 300 £ \§ 00>~ ¢(13) (360 09
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pp. 203 #14 /

14. A rectangular field with an area of 8000 m” is enclosed
by 400 m of fencing. Determine the dimensions of L‘)
the field to the nearest tenth of a metre.

Let / and w represent the length and width of the field respectively, in m.

Yo=altswy Azl
Q0=L{w  8000=Hw

aw-w=X£  Fho= (300-w)(w)
$000= w23
~< Slve. (/U;__a‘oow,,_gdoa =O

wa—aoow +8000=0

o
Whapow § 00" #8000

(w—(oo)‘ — j00 go+Re00=0
@J-'(OO): -Q000 =0
(w—,oo)’ = Q00D
(o100 = £ J000

L= 100%Joe00
Lt oot qqqy g w0074

2 1YY 1y =55.23
NEEWEITT DY :7C W= 5523
J=200-w J=(4432 =

= 00 -IYY. T

. the dimensions of the field
=S95.9Y ", are 55.28 m by 144.72 m.
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pp. 203 #15

15. The height, /(z), of a projectile, in metres, can be
modelled by the equation /(7)) = 147 — 5¢%, where
r is the time in seconds after the projectile is released.

Can the projectile ever reach a height of 9 m?

Explain.

Con h(£)=1 41/‘({'563
)= -st44E -
b qac
< (0 4(=s)( )
= |96 - (&0

=6 .‘.b?’_t(ac 70

-y frogu(I{e g resch .
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pp. 203 #16

16. Determine the values of # for which the function
f(x) = 4x® — 3x + 2kx + 1 has two zeros. Check

these values in the original equation.

= A -3scta kx4 (
L= 7(2,(-)((:54-3.‘4)4-{
A=Y phI3RA T
L)}—L(o.c 20
(S3ra8) —4(Q(N 0
9 - I +4£2-16 >0
Yp>-(3& -1 20
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pp. 203 #17 /6'7’% 1 point,
17. Determine the break-even pointf of the profit
function P(x) = —2x? + 7x + 8, where x is the

number of dirt bikes produced, in thousands.

ZF P(k)=0
o= -ax < +K
(= -+ @D GaNG

R (-2)

T Aiv@T
7

=iy

- g

K=~3+(m n)(—_*?'\m;
—% -7
= <090 >4 y03S
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pp. 203 #20

20. An engineer is designing a parabolic arch. The arch
must be 15 m high, and 6 m wide at a height of 8 m.
a) Determine a quadratic function that satisfies
these conditions.

b) What is the width of the arch ar its base?

(5,15)

a[y 0) FS
(3 G, P 1
}’M 4-(3
o g= a(g) LIS
8= AQa+S

8-15=qa
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pp. 203 #23
23. a) Wil the parabola defined by
flx) = x? — 6x + 9 intersect the line
g(x) = —3x — 5? Justify your answer.
b) Change the slope of the line so that it will
intersect the parabola in two locations.

a) Lo f ﬁ(xﬁj(x\ L) Af 3()4): mk-S

!c:— xta= 35 (2 {3t - Iyt SO
Ko-6X Fi+3K+) = )(24)((-6-6»'\)4/‘{?0
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p. 198 #4a

4. Determine the point(s) of intersection of each pair of functions.

a. flx) = —.’%xz — 5x + 20, g(x) = 6x — 1
S b= ~ 2S£ 20
A
W S Hax = —Q0 = O
Q
W ple-d(=0

(x4 + )T O
K3 Ax=-7

I(2R42)., 341):4(—11,
=9 T-¢3
(3.3} ~E1-43)

D. 198 #5
5. An integer is two more than another integer. Twice the larger integer is one
more than the square of the smaller integer. Find the two integers.

oLet X @f@%&«r/-% Margen unfegen
e o Y TGy e,e 1R sma2lin MJejm,

e = ,y&ﬂ { &(Wg>=f0ai (
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0. 199 #6
6. The revenue function for a production by a theatre group is
R(z) = —50¢* + 300z where # is the ticket price in dollars. The cost

function for the production is C(7) = 600 — 50z Determine the ticket
price that will allow the production to break even.

Pﬁf)" JZLQMM{ - (ost
(PNR"‘) _ -t Tt ‘@@{W
lhenfon) = S0 FP00E- pov-45C
S0 = =50t 350 600
=-so(£*- 3¢ +(2)

=-(t-4) (£-3)
ST £my
L fickeds CoSt #3 enet, —— "\

% {)fo""wﬁ\"ﬂ cwil | breq £ even,
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0. 199 #7
7. a) Copy the graph of f(x) = (x — 2)? — 3. Then draw lines with slope

— 4 that intersect the parabola at (i) one point, (ii) two points, and
(iii) no points.
b) Write the equations of the lines from part (a).

c) How are all of the lines with slope — 4 that do not intersect the parabola

()("&\a— 3= "%y
Q
K‘ﬂ&*‘/‘B*ik-é—“o
iy F1- b0
akXilx+ C=O
0(:{ Lto C= {-L)
‘I“‘*j?ni-' L ~Yqc=0
O)™~¢(1)(1-b)<o
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0. 199 #8
8. Determine the value of £ such that g(x) = 3x + £ intersects the quadratic
function f(x) = 2x* — 5x + 3 at exactly one point.

D5k -3x £3=£50/) 3P 4(2)(5-£)70

Y
cazd b=-% (=3-4£
‘{or-ZJé

¢(O_
40
Sl =S (o g=36-5) fpeS
—/’/fm 3(\6) QW‘F‘S —ﬁ(z)mf ok:ic-/f(y "ML ’oo,\.p[._
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QQuadratics Review o (V) . DT/ P

1. For each function below state the direction of the opening,
the vertex, axis of symmetry, max or min value,
and the domain and range. Finally, sketch the function.

2 f(x)=—2(x—5)" -4 b) f(x)=2(x—3)(x+5)

Al owin, “pP '-Z‘r(")"o - S
U(S 0 LT\ X=3 &7
L25) deess b5 =

D $xc®3 R: Iyer [y -4

w= -l R
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% X \Hr‘(‘Y"‘:(l)‘_;(_q)(q]
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y=-2(x-5) -4

=2(x-3)(x+5)
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2. a) The height, 4(¢), in metres, of the tragectory of a football is
given by h(r) =2+ 28t —4.9¢* , where t is the time in flight,
in seconds. Determine the maximum height of the football
and the time when that height is reached.

b) How long will it take for the ball to hit the ground?
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3. a) Determine the inverse of f(x)=-3(x—4)*+2

b) Graph £ (x) and £ (x) y
c) Is the inverse a function? ) i x
Explain using words. HTETE 4 20 5 a6 8 w0

d) State the domain and
range of f(x) and £~'(x)
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4. Express each radical in simplest radical form.

2) /93 b) —5/50 ©) 212 +4+/48

5. Determine an expression in lowest terms for the perimeter
AND area of the rectangle.
1+ 320

9-2.45
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6. a) The height, /1(7) , of a projectile, in metres, can be modelled
by the equation h(t) =14t - 5¢> , where t is the time in seconds
after the projectile is released. Can the projectile ever reach a
height of 9 m?

b) How long will it take for it to hit the ground?



3.R1 Quadratics Review Questions (Spring 2017)-s17-2 March 31, 2017

7. Determine the value(s) for £ for which the function has no roots.

f(x)=3x"-4x+k
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8. Determine the equation of parabola that has roots /5 and —/5
and goes through point (-1, 6).
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9. Solve f(x) = x> —4x+2
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